Differentiation and Limits No CALCULATORI!!HH

1. Whatis the minimum value of the slope of the curvey = X + X2 — 2X7?
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2 Determine the point on the curvey =v2x + 1 at whlch the tangent is parallel to the line x - 3 =6
3y=/, Fhe fangeud /g Jo X-34=46 <o Shey hore
g .7% Z ,<j Qﬁu & .§ 243€. W s = A4
. X ,Q m= A & Fangitrs )

. g
m;ﬁm?@%f e ? - 5@ -
3. The function f(x) = X" -4x” has MRS PR
Rt e g ﬁ: : o= |
m == 1____:'&,} j = V24t ij

a) One local minimum and two local maxima L/
b) One local minimum and one local maximum 7@5&4&% oy /Kf{/;éb 347 b @7 54;
¢) Two local minima and no local minimum ‘

d) One local minimum and no local maximum

Two local minima and one local mgx1mum m

' ! pry o 4 f f‘{ - O - )

! ol oedifm ot {é* f L) e < ‘~f X =0 X=X
{x{;ﬁﬁz’* a Jot e b v L{ (j , w;é;“"fé W}g _2) s O Y, £

/,
ie g?f’ A ":""f"f}fﬁf; i f y 25 V\: ji"f ww‘é{? rd
fy) is @ GuaC 4 foil; il g 2 o .
4. The number of inflection points (cha ge in curvature) of the functlon in#3is /bedinn e by
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5. The maximum value of the functiony = -4xV2 — x is..... Round your answ?r to the nearest hundredth. ”“”E
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In questions 6- 9, the position of a particle moving along a horizontal line y = 6 is given by A o
s=t"-6t"+12t—8 / .
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6. For what time interval(s) does the abjgct move to the ngh;'-> 3; M;, @,}wmg . " r
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8. For what time interval(s) is its acceleration positive
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9. Whatis the particles location at t = 5? Is the particle speeding up or slowing down at this location?
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10. The position of a particle moving on dline is given by s =(-5+(t-2))%. Answer the following ques:ég}s and de /ffi’f’”'f
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W e) What is the velocity when the acceleration is_zero?
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12. The function g(x) =-———— has 7 (A3 )w )
A vertical asymptote at x=3 b) a horizontal asymptote at y=1/3
} Aremovable discontinuity at x=3 d) an infinite discontinuity at x=3

e) No asymptotes or discontinuities
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Which of the following statements is (are) ﬁ.‘ue?
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17. If f{x) = cosx sin3x, then £'(n/6)} is equal to
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d. none of these
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20. Suppose f(3) =2, f'(3) =5 and f’(3) =-2. Then e (fz (x)) at x=3 is equal to
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